
TTOOXXIICCIITTYY  CCAAUUSSEEDD  BBYY  GGEENNEETTIICC  IINNDDIIVVIIDDUUAALL  DDIIFFFFEERREENNCCEESS  IINN  DDRRUUGG  UUSSEE  

  

  

AASSSSOOCC..  PPRROOFF..  İİLLKKEERR  AATTEEŞŞ  

  

GENETIC VARIATION 

 

Variation (Diversification) are differences that can occur within or between populations, observed 

within species or gene alleles. 

This genetic event causes individuals or groups within a species to have distinct features. (E.g.): 

People of different sizes, nose length, shortness, straight or slanted eyes, color difference of 

roses, shape differences in fruits, etc. 

 

Variations: 

1) Hereditary variations (Genetic variations) 

2) Non-hereditary variations (Modifications) 

 

Factors affecting genetic variations: 

1) Polymorphisms 

2) Mutations 

 

 

 

Modifications 

They are non-hereditary changes observed in the living organism's external appearance under the 

influence of non-hereditary factors. 

 

The scar color that occurs as a result of any accident or when we dye our hair cannot be 

transferred to the offspring by heredity. 

 

 

 

GENETIC MECHANISM 

 

    

TThhee  iinnhheerriittaannccee  uunniittss,,  ggeenneess,,  aarree  llooccaatteedd  oonn  cchhrroommoossoommeess  aanndd  aarree  ppaarrtt  ooff  tthhee  DDNNAA  

mmoolleeccuulleess..  EEaacchh  ooff  tthhee  ggeennee  ppaaiirrss  llooccaatteedd  iinn  tthhee  ssaammee  ppllaacceess  ooff  tthhee  cchhrroommoossoommeess  iiss  ccaalllleedd  

""aalllleellee"".. 

 

 

 

 

  IInn  hhuummaannss::  

                      2233  ppaaiirrss  ooff  cchhrroommoossoommeess  

2222  ooff  tthheemm  iiss  aauuttoossoommaall,,    

  11  ooff  tthheemm  iiss  sseexx  cchhrroommoossoommee    

                  



SSeexx  cchhrroommoossoommeess;;  

      IInn  wwoommeenn                    XXXX                  

      IInn  mmeenn                            XXYY  

 

  IInnhheerriittaannccee  wwiitthh  aa  ggeennee  llooccaatteedd  oonn  tthhee  XX  oorr  YY  cchhrroommoossoommee  iiss  ccaalllleedd  ""sseexx--lliinnkkeedd  iinnhheerriittaannccee""..  

          

          

 

As a result of the change in genetic structure, especially enzymes and receptors are seriously 

affected. Due to these changes, several diseases have been seen in individuals.  

 

        EEssppeecciiaallllyy  

      

11--  GGeenneettiicc  cchhaannggeess  ccaauussee  cchhaannggeess  iinn  tthhee  pphhaarrmmaaccookkiinneettiiccss  ooff  ddrruuggss  iinn  iinnddiivviidduuaallss  aanndd  aaffffeecctt  tthhee  

ttooxxiicciittyy  ooff  tthheessee  ddrruuggss,,  ssiinnccee  tthhee  bbiioottrraannssffoorrmmaattiioonn  ooff  ddrruuggss  ddeeppeennddss  oonn  mmeettaabboolliicc  cchhaannggeess  

ccaauusseedd  bbyy  eennzzyymmeess  ((pphhaarrmmaaccookkiinneettiicc  cchhaannggeess))..  

 

22--  IInn  aaddddiittiioonn,,  dduuee  ttoo  ggeenneettiicc  ddiissoorrddeerr,,  rreecceeppttoorr  pprrootteeiinnss  mmaayy  ooccccuurr  iinn  qquuaalliittaattiivvee  aanndd  qquuaannttiittaattiivvee  

ddiiffffeerreenncceess..  TThhuuss,,  iinnddiivviidduuaallss  rreessppoonndd  ddiiffffeerreennttllyy  ttoo  tthhee  cchheemmiiccaall  oorr  ddrruugg  ((pphhaarrmmaaccooddyynnaammiicc  

cchhaannggeess))..  

IDIOSYNCRASY 

Abnormal response to drugs and chemicals due to hereditary reasons. 

CHANGES IN THE PHARMACOCINETICS OF THE DRUG RESULT OF GENETIC 

CHANGES 

 

        

 

Deficiency or inactivity in the gene coding the enzyme as a result of enzyme polymorphism 

causes the drug metabolism to change through this enzyme. 

The phenotype in which the synthesis or structure of the enzymes responsible for drug 

metabolism is impaired is called the slow metabolizer,  

 

and the normal phenotype is called the rapid metabolizer.  

 

  

Alterations in drug metabolism causes changes in toxicity or detoxification.   

  

 

  Example: The slow inactivation of isoniazid and similar drugs 

  

Isoniazid is an antibiotic drug that is used in tuberculosis treatment.  

Isoniazid, Hydralazine, Sulfonamides, are inactivated in liver by N-acetyltransferase.  

 

IInn  tthhee  oonneess  wwhhoo  aacceettyylliissee  sslloowwllyy,,  ppeerriipphheerraall  nneeuurrooppaatthhyy  iiss  sseeeenn  wwhhiillee  ssoommee  hheeppaattoottooxxiicc  eeffffeeccttss  

sseeeenn  iinn  tthhee  oonneess  wwhhoo  aacceettyylliissee  ffaasstt..        

  

        



 

 

  

        EExxaammppllee::  AAllccoohhooll  rreellaatteedd  rreeaaccttiioonnss  

          IInn  rreecceenntt  ssttuuddiieess  iitt  iiss  pprroovveedd  tthhaatt  tthhee  ssppeeeedd  ooff  tthhee  aallccoohhooll  mmeettaabboolliissmm  sshhoowwss  vvaarriiaabbiilliittyy  dduuee  

ttoo  tthhee  ggeenneettiicc  ddiiffffeerreenncceess..    

            

  

  

 

  WWhheenn  JJaappaanneessee  aanndd  RReedd--iinnddiiaannss  ppeeooppllee  ddrriinnkk  aallccoohhooll  tthheeiirr  ffaacceess  ttuurrnn  ttoo  rreedd..  

  

  TThhiiss  ffaacctt  iiss  bbeeccaauussee  ooff  tthhee  eexxiisstteennccee  ooff  aann  ““aattyyppiiccaall””  aallccoohhooll  ddeehhyyddrrooggeennaassee  eennzzyymmee  wwhhiicchh  

ttrraannssffoorrmmss  aallccoohhooll  ttoo  aacceettaallddeehhyyddee  rraappiiddllyy.. 

 

When these people drink alcohol, their skin turn to red due to the excessive acetaldehyde levels in 

their blood. 

Then due to the change in the NADP
+
/NADPH ratio, the transform rate of the alcohol to 

acetaldehyde decreases so the redness stops. 

  

 

IN USA, the studies show that, the 90% of the caucasians have the enzyme that metabolize 

alcohol slowly bu ton the contrary, the 90% of the yellow race have the enzyme that 

metabolize alcohol rapidly so that the people from yellow race have the risk of redness in 

their skin after using alcohol.  

 

          EExxaammppllee::  AAnnootthheerr  rreeaaccttiioonn  rreellaatteedd  wwiitthh  aallccoohhooll  iiss  tthhaatt  ppeeooppllee  uussiinngg  cchhlloorrpprrooppaammiiddee  aanndd  

ttoollbbuuttaammiiddee  aass  oorraall  aannttiiddiiaabbeettiiccss,,  wwhheenn  tthheeyy  ddrriinnkk  aallccoohhooll  wwiitthh  tthheessee  ddrruuggss  tthheeiirr  sskkiinn  ttuurrnn  ttoo  

rreedd  aallssoo..    

 

IInn  tthheessee  iinnddiivviidduuaallss,,  tthhee  ssllooww  ffoorrmm  ooff  aallddeehhyyddee  ddeehhyyddrrooggeennaassee  iiss  oobbttaaiinneedd..  CChhlloorrpprrooppaammiiddee  aanndd  

ttoollbbuuttaammiiddee  iinnhhiibbiitt  tthhiiss  eennzzyymmee  aanndd  tthhiiss  ffaacctt  ooccccuurrss..  

 

 

          EExxaammppllee::  HHyyddrroollyyssiiss  ooff  SSuucccciinnyyllcchhoolliinnee..  

          SSuucccciinnyyllcchhoolliinnee  iiss  aa  ddrruugg  uusseedd  ffoorr  sshhoorrtt--tteerrmm  ppaarraallyyssiiss  iinn  ssttrriippeedd  mmuusscclleess..  IItt  iiss  iinnaaccttiivvaatteedd  

bbyy  hhyyddrroollyyssiiss  ooff  ppllaassmmaa  ppsseeuuddoocchhoolliinneesstteerraassee  eennzzyymmee  ttoo  ssuucccciinnyyll  mmoonnoocchhoolliinnee..  TThhee  

iinnaaccttiivvaattiioonn  iiss  vveerryy  sshhoorrtt  ssoo  tthhaatt  iittss  ppaarraallyyssiiss  eeffffeecctt  ccoonnttiinnuueess  ffoorr  oonnllyy  55  mmiinnuutteess  bbyy  

iinnttrraavveennoouuss  rroouuttee..    

      

In England, 95% of the population is homozygous. In regards of atypical gene, the enzyme 

activity in homozygous ones is decreased to 50% so that in these people the effect of 

succinylcholine is prolonged resulting in long lasting muscle paralysis.   

CHANGES IN THE PHARMACODYNAMICS OF THE DRUG AS A RESULT OF GENETIC 

CHANGE 

 

EExxaammppllee::  HHeerreeddiittaarryy  MMeetthheemmoogglloobbiinneemmiiaa  



CCyyaannoossiiss  ddeevveellooppss  wwhheenn  tthhee  ppeeooppllee  wwhhoossee  wwhhiittee  bblloooodd  cceellllss  ddoonn’’tt  hhaavvee  mmeetthheemmoogglloobbiinn  

rreedduuccttaassee,,  uussee  tthhee  ddrruuggss  ssuucchh  aass    

  nniittrriittee,,  

  pphheennaacceettiinn,,  

  TThhee  ootthheerr  aanniilliinnee  ddeerriivvaatteedd  aannaallggeessiiccss,,  

  nniittrroobbeennzzeennee  ddeerriivvaatteess    

wwhhiicchh  ttrraannssffoorrmm  hheemmoogglloobbiinn  ttoo  mmeetthheemmoogglloobbiinnee..    TThhiiss  ggeenneettiicc  ddiissoorrddeerr  iiss  ccaalllleedd,,  HHeerreeddiittaarryy  

MMeetthheemmoogglloobbiinneemmiiaa.. 

 

          IInn  nnoorrmmaall  ppeerrssoonnss,,  11%%  ooff  tthhee  hheemmoogglloobbiinn  iinn  rreedd  bblloooodd  cceellllss  ((RRBBCC))  iiss  mmeetthheemmoogglloobbiinn  

((iinncclluuddeess  FFee
++33

))..  FFeerrrriicc  iirroonn  iiss  rreedduucceedd  ttoo  FFee
++22

  bbyy  44  ddiiffffeerreenntt  eennzzyymmee  ssyysstteemmss  iinn    RRBBCCss  ssoo  

tthheerree  iiss  nnoo  mmeetthheemmoogglloobbiinn  aaccccuummuullaattiioonn..    

 

  TThheessee  iinndduucciinngg  ssyysstteemmss::  

  

11--  AAssccoorrbbiicc  aacciidd  

22--  GGlluuttaattiioonn  

33--  NNAADDPPHH  ((NNiiccoottiinnaammiidd  aaddeenniinnee  ddiinnuucclleeoottiiddee  pphhoosspphhaattee))  

44--  NNAADDPPHH  ddeeppeennddeenntt  mmeetthheemmoogglloobbiinn  rreedduuccttaassee  

 

          SSoommee  ooff  tthhee  ddrruuggss  ccaauussiinngg  mmeetthheemmoogglloobbiinneemmiiaa    aaffffeecctt  aass  DDIIRREECCTT  OOXXIIDDIIZZIINNGG  EEFFFFEECCTT..    

  

  NNiittrriitteess  

  NNiittrraatteess  

  CChhlloorraattee  

  EExxcceessssiivvee  ddoossee  ooff  mmeetthhyylleennee  bblluuee  eettcc..  

 

          SSoommee  ooff  tthhee  ddrruuggss  aanndd  cchheemmiiccaallss  ttrraannssffoorrmm  ttoo  ooxxiiddiizziinngg  mmeettaabboolliitteess  nnaammeellyy,,  IINNDDIIRREECCTT  

OOXXIIDDIIZZIINNGG  EEFFFFEECCTT..  

  

  AAnniilliinnee  

  NNiittrroobbeennzzeennee  

  NNiittrroottoolluueennee  

  AArryyll--aammiinnoo,,  aarryyll--nniittrroo  ccoommppoouunnddss  



  AAcceettaanniilliiddee  

  SSuullffoonnaammiiddss  

  

 

DDrruugg  sseennssiittiivvee  hheemmoogglloobbiinnss            

PPeeooppllee  wwiitthh  aabbnnoorrmmaall  hheemmoogglloobbiinn  ((ssuucchh  aass  HHeemmoogglloobbiinn  HH,,  MM,,  SS))  iinn  tthheeiirr  RRBBCCss,,    aarree  sseennssiittiivvee  ttoo  

ddrruuggss  ccaauussiinngg  mmeetthheemmoogglloobbiinneemmiiaa  bbyy  ooxxiiddaattiioonn  ((eessppeecciiaallllyy  hheemmoogglloobbiinn  HH))..  DDuurriinngg  eexxppoossuurree  

ttoo  ooxxiiddiizziinngg  cchheemmiiccaall  oorr  ddrruugg,,  mmeetthheemmoogglloobbiinneemmiiaa  ddeevveellooppss..  HHaaeemmoollyyttiicc  aanneemmiiaa  ccaann  aallssoo  

ooccccuurr..  

 

EExxaammppllee::  PPrriimmaacciinnee  sseennssiittiivviittyy..  

PPeeooppllee  wwiitthh  gglluuccoossee  66--pphhoosspphhaattee  ddeehhyyddrrooggeennaassee  ((GG66PPDD))  eennzzyymm  ddeeffiicciieennccyy  iinn  tthheeiirr  RRBBCCss,,  tthhee  

ooxxiiddiizziinngg  ddrruuggss  iittsseellff  oorr  tthheeiirr  mmeettaabboolliitteess  ccaauussee  hhaaeemmoollyyttiicc  aanneemmiiaa..  TThhiiss  ssyynnddrroommee  iiss  ffoouunndd  

ffiirrssttllyy  iinn  pprriimmaacciinnee  uusseerrss  ssoo  tthhaatt  tthhiiss  ggeenneettiicc  ddeeffeecctt  iiss  ccaalllleedd  aass  PPrriimmaacciinnee  SSeennssiittiivviittyy..  

 

  PPrriimmaacciinnee,,  iiss  aann  88--aammiinnooqquuiinnoolliinnee  ddeerriivvaatteedd  ddrruugg  uusseedd  iinn  mmaallaarriiaa..  IInn  nnoorrmmaall  ppeerrssoonnss,,  iinn  

tthheerraappeeuuttiicc  ddoossee  nnoo  aaddvveerrssee  eeffffeecctt  ccaann  bbee  sseeeenn..  BBuutt,,  iinn  GG66PPDD  eennzzyymmee  ddeeffiicceennccyy,,  hhaaeemmoollyyttiicc  

aanneemmiiaa  ccaann  ddeevveelloopp  eevveenn  iinn  tthheerraappeeuuttiicc  ddoossee.. 

 

IInn  pprriimmaacciinnee  sseennssiittiivvee  RRBBCCss,,  rreedduucceedd  gglluuttaattiioonn  ((GGSSHH))  lleevveellss  aarree  llooww  bbeeccaauussee  ooff    tthhee  GG66PPDD  

eennzzyymmee  ddeeffiicciieennccyy..            

CChheemmiiccaallss  oorr  tthheeiirr  mmeettaabboolliitteess  ccaauussiinngg  hheemmoollyyssiiss  ooxxiiddiizzee  tthhiiss  rreedduucceedd  gglluuttaatthhiioonnee  aanndd  iinnaaccttiivvaattee  

iitt..          

 

GG66PPDD  ddeeffiicciieennccyy  iiss  pprriimmaarriillyy  sseeeenn  iinn  AAffrriiccaa  aanndd  MMeeddiitteerrrraanneeaann  rreeggiioonn  ppeeooppllee..  

          

IInn  ÇÇuukkuurroovvaa  rreeggiioonn  iittss  ffrreeqquueennccyy  iiss  1111,,44%%,,  iinn  CCyypprruuss  iitt  iiss  33,,55%%  aanndd  iinn  AAeeggeeaann  rreeggiioonn  iitt  iiss  11%%..    

TThhee  hhiigghheesstt  iinncciiddeennccee  iiss  1133  %%  iinn  SSaauuddii  AArraabbiiaa,,  aanndd  iinn  UUSSAA  AAffrroo--AAmmeerriiccaannss  aass  1100--1133%%..            

 

IItt  wwaass  ffoouunndd  ffiirrssttllyy  iinn  pprriimmaacciinnee  uusseerrss  ssoo  tthhaatt  tthhiiss  ggeenneettiicc  ddeeffeecctt  iiss  ccaalllleedd  aass  PPrriimmaacciinnee  

SSeennssiittiivviittyy..  AAllssoo  iinn  ppeeooppllee  wwhhoo  hhaass  tthhiiss  ggeenneettiicc  ddeeffeecctt  ccoonnssuummiinngg  FFaavvaa  ((bbrrooaadd  bbeeaann,,  VViicciiaa  

ffaabbaa))  hhaaeemmoollyyttiicc  aanneemmiiaa  ddeevveellooppss..  TThhiiss  ddiissoorrddeerr  iiss  ccaalllleedd  aass  FFaavviissmm.. 

 

Example: Hepatic porphyria. 

 

Hepatic porphyria is a hereditary disease. In this disease, delta-aminolevulinic acid synthetase 

enzyme (δ-ALA) which is a speed limiting stage for porphyrin and heme production chain 

can be induced by some drugs and its level in hepatic cells gets higher.  

 

TThheessee  ddrruuggss  aarree::  

                                            BBaarrbbiittuurraatteess  

        EEtthhyyll  aallccoohhooll  

        SSuullffoonnaammiiddeess  

        CChhlloorrooqquuiinnee  

        GGrriisseeooffuullvviinn  



        CCoonnttrraacceeppttiivvee  sstteerrooiiddss  

        BBeennzzooddiiaazzeeppiinneess  

        IIssoonniiaazziidd  eettcc.. 

 

     When these drugs are taken, enzyme will be excessively induced so that porphyrin and its 

precursors will be more produced; the disease symptoms become clear and gets severe. At 

last, in acute cases porphyrin and its precursors’ levels get higher in both plasma and urine. 

Aminolevulinic acid and porphobilinogen levels also increase.  

 

 

                            SSuuccccyynniill  KKooAA  ++  ggllyycciinnee            

          

          

        δδ--AALLAA  

          

                        PPoorrpphhoobbiilliinnooggeenn  

  

    

            UUrrooppoorrpphhyyrriinnooggeennss  

  

        

                                                      PPoorrpphhyyrriinnss  

  

                          ++  FFee
++22  

                                          

            HHEEMM  ++  pprrootteeiinn                  HHEEMMOOGGLLOOBBIINN  

GAINING RESISTANCE AGAINST CHEMICAL SUBSTANCES 

 

IInn  ssoommee  kkiinnddss  aanndd  iinn  tthhee  ddiiffffeerreenntt  iinnddiivviidduuaallss  bbeelloonnggiinngg  ttoo  tthhee  ssaammee  kkiinndd  ggaaiinn  rreessiissttaannccee  aaggaaiinnsstt  

sseevveerraall  cchheemmiiccaallss  aanndd  ddrruuggss  bbyy  iinndduuccttiioonn  ooff  mmeettaabboolliicc  pprroocceesssseess  ggeenneettiiccaallllyy..  TThhiiss  ffaacctt  

pprrootteeccttss  tthheessee  kkiinnddss  aaggaaiinnsstt  tthhee  ttooxxiicc  eeffffeeccttss  ooff  tthheessee  cchheemmiiccaallss  aanndd  ddrruuggss..  

 

EExxaammppllee::  IInn  rraabbbbiittss    aattrrooppiinneesstteerraassee  eennzzyymmee  lleevveell  iiss  vveerryy  hhiigghh..  TThhiiss  pprrootteeccttss  tthheessee  aanniimmaallss  

aaggaaiinnsstt  tthhee  eeffffeeccttss  ooff  aattrrooppiinnee..  

  

EExxaammppllee::  SSoommee  bbaacctteerriiaa  ssttrraaiinnss  aarree  rreessiisstteenntt  aaggaaiinnsstt  tthhee  bbaacctteerriioossttaattiicc  aaggeennttss;;  

          SSoommee  hhoouussee  fflliieess  aarree  rreessiisstteenntt  aaggaaiinnsstt  ssoommee  iinnsseeccttiicciiddeess  ssuucchh  aass  DDDDTT..  

          

 

COMPLEX TOXIC EFFECTS DUE TO THE CONTINUOUS RESENT OF 

CHEMICAL SUBSTANCES’ 

 

 

Accumulation: Chemicals and drugs start to accumulate due to their metabolism speed. If a 

chemical’s resent speed into the organism is higher than its elimination speed; it has 

tendency to accumulate in the organism and exerts its toxic effects.  

 



Lipid soluble chemicals can easily accumulate in the organism due to their continuous resent into 

the body. In normal situations they are inert but when the lipid tissue starts to dissolve, they 

become free in the blood and it can easily exert its toxic effects. 

 

Example: DDT can accumulate in human and animal lipid tissues and exerts chronic toxicity. 

Because of this reason its use is forbidden. 

 

TOLERANCE 

When some drugs are used continously, the effect of the starting dose declines steadily. The döşe 

should be increased to see the same effect. This is called «Tolerance». It is a resistance situation 

which is gained afterwards. 

       

  

  

 

When a person gains tolerance to a drug which is a member of the same pharmacological group, 

also gains tolerance to the other members of the group. This is called  Cross Tolerance.  

 

Example: When a person gains tolerance to morphine also gains tolerance to meperidine and 

methadone at the same time.   

  

Tolerance can be occurred in two ways: 

1. Biochemical Tolerance: 

When a drug is given in repeated doses, it induces the enzyme system which inactivates itself. So 

that, the elimination speed of the drug is increased; the plasma drug concentration and its activity 

declines steadily.       

Example: In chronic drinkers, the elimination speed of alcohol increases.  

 

The decrease in the absorption of the drug from the intestine also provides a tolerance 

development against this drug.   

     

  

  

 

TACHYPHYLAXIS 

 

It is the quick form of the tolerance called as Tachyphylaxis or Acute Tolerance. After a drug’s 

one dose passed, by applying other doses in succession a tolerance to the drug can be expressed 

in a very short time such as in minutes.  

  

  

 

 

LESSON IS OVER 


